RINI=97 7 )r—3
®B4E Javalc &3y I7—-2709539

AH @AXHR
(423W AR AT 1 AT 7— X 3R)



Aroa=)b

9A27H 1@ 'TCP/IP7AarINAR1L—b]
10848 2[E NJavalckd 1Rk 709737 ]
10A11H 53 r*“J|~'7—77'7"')’J'—““/El‘/0)7"I:I7“5M JETI]

10A 188 %HB4ME .
10A258 %B5E I.
11A8H 5B6ME I
11A158 #7E .

avalc & dRYMNI—07095
avalckd%YMNI—o70%
avalckd%YMNI—o709
avalc & dRYMNI—07095

\]I
N

\]I
III n III
\O \0 \O O
\“r

11A17H /8Mm 'yx7707737(220LWT

xR (1)



Aroa=)b

11A228 %89ME JavaScriptic&d 7717 b1 7709537 )
11A298 %10Mm lNJavaScriptic k7717 ML T7709337 )
12A6H %11 MNJavaScriptic k7717 MAIROT 7709537 )
12A138 %12m lNJavaScriptic k7717 bARx 7709537 |
12A208 %E13ME lNJavaScriptic k717 ML 7709537 |
1A108B 8140\ NJavaScriptlc k7717 ] SR (2)
1A198 & 15[ NF&HEHY |

I




UDPICEL BT —2MDXRME

« AR a L A(EHELLLY)

« 723 byteBDELYI ELTEREETND
¢ TRARTF=EDRNENENLF)T—2DRNE) DTG EIRRFEU

e DatagramSocket75 A & DatagramPacketZ75 A ZH(\5
e cf. TCPIZ Socket27 A& & ServerSocket75 A ZH\5
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70954 7095 L
| new DatagramSocket () | | new DatagramSocket () |
} }
| new DatagramPacket () | | new DatagramPacket () |
} }
| send () /receive () F—2DER(E send () /receive ) |

! !

| close () | | close () |




(2% ) UDPICL BT —42D:XZ{E(CEFER)

70954 7095 L
| socket () | | socket () |
| |
| bind () | | bind () |
| |
| sendto () /recvirom () F—2DER(E sendto () /recvfrom () |
| |

| close () | | close () |
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try {
byvte[] byte=s = ztring.getbBytes()
DatagramPacket packet = new DatagramPacket (byte=s, bytes.length, thi=s.address):
thi=.=socket.=zend (packet)
catch (SocketException =e) {
se.printStackTrace () :
catch (ICException ioce) |

ice.printStackTrace () :

2 — >, —
« NFI)T—20DE(F
try {
byte[] bytesz = ByteBuffer.allocates(4) .putIntii).arrayi():
DatagramPacket packet = new DatagramPacket (byte=s, bytes.length, thi=s.address):
thi=.=socket.=zend (packet)
catch (SocketException =e) {
se.printStackTrace () :
catch [(ICException ioe) {

ice.printStackTrace () :
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. FEANF—2 DR

byte[] buffer = new byte[1024]:;
DatagramPacket packet = new DatagramPacket (buffer, buffer.length):;

try {
this.=socket.receive (packet);
catch (ICException ioe) {
ioe.printStackTrace();
break;

byte[] data = packet.getData():
String string = new String(data):
System.out.println (string) ;

this

w

pplication.setString (string)

s NMF)TF—2 DS

byte[] buffer = new byte[1024];
DatagramPacket packet = new DatagramPacket (buffer, buffer.length);

try {
this.socket.receive (packet);
catch (ICException ioe) {
ioe.printStackTrace():
break;

byte[] data = packet.getDatal():
int i = ByteBuffer.wvrapi(data).getInt():
System.out.printlin(i);
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« V1R IICRBREB /=N EEFT-NINY I A2 AR

byte[] buffer = new byte[l1024]; byte[] buffer = new byte[1024];
DatagramPacket packet = new DatagramPacket (buffer, buffer.length):; DatagramPacket packet = new DatagramPacket (buffer, buffer.length);
try { try {
this.=socket.receive (packet); this.socket.receive (packet);
} catch (ICException ioe) { } catch (ICException ioe) {
ioe.printStackIrace() ioe.printStackTrace():
break; break;
byte[] data = packet.getData(): byte[] data = packet.getData():’
String string = new String(data): int 1 = ByteBuffer.wrapidata).getint();

System.cut.println(string); System.ocut.println(i);

{ this.application.setString(string): /7 this.application.setlnt (1)

REALYR
D1V AR R ‘
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<—Jy x4 DatagramSocket.receive ()
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